MODEL QUESTION

Class-X :MATHEMATICS (Standard): Pre-Board/Board/Final Exam.:2022-23 : Marks-80

II.

HfoF Teal Fivn wat :- 1x10=10

1.

BTHOT CIRITE SN AW b = 3 27 O @G G0 TS He2| ‘2’ (F AT T
W_

(A) 3q (B) 3q+1 (C) 3q+2 (d) 3q,3q+1, 3q+2
2. oM AR p(x) = 32 — 27 GF WY 26 —
(A) + 93 (B) + 343 (C) —343 (D) +3+/3
3. X2+ 4x + k = 0 Ee ATNACR erad AT S SPTI T M —
(A) K<4 (B) K>4 (C)K>4 (D) K<4
4. R ANS: 2,7,12, G 155 7wis 2 —
(A) 67 (B) 72 (C) 77 (D) 82
5. fq9ge ABC @3 AB @ AC 31g 467 5155 IA0H D € E 20e1 93 BC = 6 cm 279 DE
aF g -
(A) 12cm (B) 9cm (C) 6 cm (d) 3cm
6. 3 O @R Jred P Y 200 PA @3 PB g6 ™3 #7037 3ot 88° (FITH T 27 O
Z/POA T —
(A) 92° (B) 44° (C) 46° (D) 90°
7. P(7,-6) € Q(-5, 2) W ulbx MIEs @I TR SIS 20 —
(A) (6,-2) B) (1,-2) ©) (1,4 (D) 6,-4)
8. tan1° tan2° ... tan 88°. tan 89° @ VI 201 —
(A) 0 (B) 1 (€) 2 (D) %
9. I ARG eTeta= sTesi= 7.5 @7 Yfixi = 120 + 3k, Xfi = 30 2O k GF 31
m'_
(A) 35 (B) 40 (C) 45 (D) 50
10. TR GRIG 5210 Ot @3 AN (AT G O (i 267 | (ol ST <36 =1iet
I REAF TSR 20T —
3 3 2 1
(A) »g B) 13 ©) 13 (D) 5¢
oA emojfer Tea wie - 1x10=10
11, TIHo Slal TR AT 867 @R 255 & 91 A1 9f ey S |
12. 3825 WGE GNferRe SHAMCH YoiFCa &Pl Il |
13. 3 3x+2ky —2 =08 2x + 5y + 1 = 0 (ARF FNFAELoIeT ATF AT 27 O k 4
AN FO 2
14, 3t 2x, (x + 10), Bx + 2) I A5 OTT T O x @F T fef71 S |

[ Contd...P/2]



[2]

15. @we g AODC ~ AOBA, Z/BOC = 115°, D C
ZCDO = 70°2& /DCO T S | 5
A B
16.  A(1,-5) @R B(—4, 5) Rawd SIS @A x-S0 i S srepsiive o 29 of ey
3 |
17. M(a+b,a—b)@a& N(a— b, —a— b) Rl T&g 17g e T |
_ 1 —tan?A
19. <9 T @ - sin60° cos30° + sin30° cos60°
20. TG T AR ATSIFOH SRS 27 cm?, 2T IR #1217 T 1 20T S HATOLTH 0
ST (Fgere e ! |
1. NHF 2OTEE Ted 7S - 2x6=12
21, IZsW AMWE p(x) = x* — Sx + 6 (F g2 AR g(x) = 2 — x2 T Sl I ©laiwet €
o e et |
22, 7% T faere SR AZATAR SIgere 2 : 3 | T (26 fgeita crawet 48 Iafif =0
O3 A0Sl faew(ba wazret el |
A
23, O (3 Jred A P 7Y 2300 wifers uft o K
201 PA  PB | 9187 B#127% M ferqrs sifirs <o \
PA € PB o 4f6ts 925 K ¢ N Rejre (2wt 37 | P
a1 Gl G, KN = AK + BN, Ve
B
24. @36 15 B o1 (i @ oreitem M =isi =t 20t | 3w B ¢ oreaiem
TFGT (e 60° T, OF MSATAT Sl el a1 |
25. 7 cm AZRMHG GFH IHHFROT JEFT G2 G0 SN ST FCI PN | SR
AR T AR (N TS 20O AR 2 TG0 ANSTE (e el S |
26. ¥ ICOR BFICE IRCS W~ T 20! | ABRA | 203 T2 6 2F I S oA e oAl
TRANGET TS 7 2 |
IV. T eR9TeTa Ted wie - 3x8=24
27. &N BT @ 3 + 2v2 AT G SEm A7 |
28.  IMIgeM A x° — 3x> + x + 1 ST X9 (a - b), a, (a + b) 2, ©CF a G b G I
fefe <t |
. 10 2
29, VEHRTEA - ot =4
15 5
x+y_x—y -2

[ Contd...P/3]



[3]

30. G0 TG AN AT '@ (I 27 [ 17 €3 350 1 77 AT SR 9 2, S FTRITA
FOICE A S[(7 G IR IS T ?

31, (0,-1), (2, 1) @3z (0, 3) AT A5 fagrem qgaeaa vt I8 FF @ fage
AT AT O (FGTe (T FCA | AN CFIFCAT AN oAV TG o CFqP (e Soire
[BREE&IN

COSA —sinA+1 _

32, 999 /E A, cosA T sinA 1 = cosecA + cotA.

33. 5@ ABC Ze1l 14 e IPntdfRfG «afo grea
@3 5geitx @32 BC (F M 407 930 widqe
& 1 20! | (FLIfEFe ST R e i |

34, fSefeies aitrearboe 2250 @pfes TR GRewE (TOR) (el 29 ¢

GIRPIET | 020 | 2040 | 40-60 | 60-80 | 80—100 | 100—120
(TB)
stz | 10 35 52 61 38 29

TATHF ePIATETE Ted Wi - 4x6=24

35, 3x2— 4\Bx + 4 = 0 fer® TR Ao 24 fgsid w1 | 7 e v wieg
2F O O el e |

36. T @6 (Gores @Il @i g A @l o=1i7 wib g fon fon Remre @ a0,
SR Al IR (@, ST I Y 42 IS [os 27 |

37.  3fER @I 9 T (A0 O (R J0ed T2 TP @R TQ 7o “ix{S Siese 21 257 | &Amiel
I @, LPTQ =2,0PQ.

38. 3 IS #Imfd (AT @36 TG Aea TS @l 30° G SGIferia Amy
(AT FAIER Aea Tafe @t 60° | 7 SmEg Swel 50 fibR 23 ot Sz Twel
fefe <t |

39. @B (olleT @ * & STSCT SIg=iTe § : 3 | 7t *1e SF T (olleTera PN Il
oY 3R (TR G 16 G127, 153 Tooel 9 2

40. Ao AR Rereta @ st e et -

EKE| 10-19 | 2029 |30-39 | 40-49 | 50-59 | 60—69 | 70-79

RIGART 5 65 222 112 53 40 3




